20162 EYSAME U AMEHE ®EBDHK

—TIME TABLE—— 2016498258 (B) fLiR/S—oHKTIL
No. %8 SR | 433y | sugEr | @l | e—+ | 7u7 |mEmsm
7:30 HERES 0:30
8:00 HEKRE - EF 2T 0:30
8:30 BERM (=722 TdFAIL) 0:10
8:40 BERFME (7<F-H) 0:10
8:50 BEBE (=7 ISRV =T A== 27) 0:10
9:00 BERFM (7<B-D) 0:15
9:15 EEBE S HEERKHE(TOB-D) 0:15
9:30 ERXESE-BEBERET S EREAS) 0:30
1 10:00 —RFE 7 IF#RS WT 28 3 24 0:12
2 10:12 AR 2aTFAILS WT 4 1 4 0:04
3 10:16 —RFE 7 <D#kS wQ 26 3 24 0:12
4 10:28 RS 22T+ AILS WT 4 1 JIE sz 0:05
5 10:33 —RFE L ZF7B#S TF 38 4 24 0:16
6 10:49 —RFE =T ARRS FQ 21 2 12 0:08
7 10:57 HE TR 7 YH#RS WT 5 1 5 0:04
8 11:01 RS i ) iy 43 WT 10 1 6 0:04
9 11:05 —RFE 7 <B#kS WTFQ 15 2 12 0:16
10 11:21 ZRFE 7 F#&S WT 24 2 12 0:08
11 11:29 ZRFE 7 <D#ES wQ 24 2 12 0:08
12 11:37 —RFE ZOB#RL CSRP 13 2 12 0:16
13 11:53 AE TR $a1=7S TQ 7 1 6 0:04
14 11:57 ZRFE 2= 7B#&S TF 24 2 12 0:08
15 12:05 R B $a1=7FS TQ 6 1 B 15z 0:05
16 12:10 AR T ARRS FQ 12 1 6 0:04
17 12:14 AE TR 7 IF#&S WT 12 1 6 0:04
18 12:18 AR 7 <D#kS waQ 12 1 6 0:04
19 12:22 HE TR 7 IB#kS WTVwWFQ 12 1 6 0:10
20 12:32 AR L —T7BH#kS TF 12 1 6 0:04
21 12:36 HE TR ZOB#RL CSRPJ 12 1 6 0:10
22 12:46 R 7 <HH#RS WT 5 1 JIE 15z 0:05
23 12:51 R B 7 YF#&S WT 6 1 JIE 432 0:05
24 12:56 P SRV =TS WT 6 1 (=i 0:05
25 13:01 R B S Z7BH#&S TF 6 1 JIE 43z 0:05
26 13:06 R 7 <D#ES wQ 6 1 JIE 15z 0:05
27 13:11 R B =T ARKS FQ 6 1 [zt 0:05
28 13:16 R 7 <B#kS WTVwWFQ 6 1 [[=Yiva 0:12
29 13:28 R B ZOB#RL CSRPJ 6 1 JIE {3z 0:12
30 13:40 tLEZ— 0:10
31 13:50 BBk R S (AHS, AFS. GS. SBS. ADS. SAS. ABS) 0:21
32 14:11 AR DadFAIL CR 4 1 4 0:04
33 14:15 AR RA—/IN—L =TS W 6 1 6 0:02
34 14:17 R DadFAIL CR 4 1 JIE1sL 0:05
35 14:22 HE RIS R—IN—L =TS T 6 1 6 0:02
36 14:24 —RFE ZOB#kS WTFQ 23 2 12 0:16
37 14:40 RIS A—/IN\—L 7S W 6 1 [t 0:03
38 14:43 HE TR I3 Ry 4 SR 7 1 6 0:04
39 14:47 R A—/IN\—Z7FS T 6 1 [[=Fiva 0:03
40 14:50 i Taz=7L SR 6 1 [t 0:05
41 14:55 —RFE 7 < BHkL CSRP 18 2 12 0:16
42 15:11 PR E = (JvS. JrS. JvL. SpSW, SpST. JrlL) 0:12




43 15:23 AE TR 7 < DHRL CS 7 1 6 0:04
44 15:27 HE TR I3 ZOD#kS TF 5 1 5 0:04
45 15:31 AE R ZTL CcP 12 1 6 0:04
46 15:35 HE TR I3 7 YF#RL CR 6 1 6 0:04
47 15:39 AE TR 7 <BHkL CSRPJ 12 1 6 0:10
48 15:49 HE TR I3 ZJOB#ES WTVwWFQ 12 1 6 0:10
49 15:59 TOARARL— 0:14
50 16:13 R B 7 <FHRL CR 6 1 [t 0:05
51 16:18 R 7 < DHRL CS 6 1 [[=Fiva 0:05
52 16:23 R B ZTL CP 6 1 JIE 432 0:05
53 16:28 TOARARL— 0:14
54 16:42 R JOD#RS TF 5 1 B 15z 0:05
55 16:47 R 7 < BHkL CSRPJ 6 1 [[=Fiva 0:12
56 16:59 R ZOB#RS WTVwWFQ 6 1 B 15z 0:12
57 17:11 # R E = (AFL, ADL, SL. ABL, PDS, PBL, PBS) 0:21
58 17:32 A +—% > X (PBL—S, PBS—F) 0:06
59 17:38 ®rT
BEF 2 ~9:00 PFS-2aTJFAILS-FIDS |~1250 aTHAI)LL-R—/8— = FWT-7OBS
Fgk ~9:30 L =F7BS*Y=FAS-F7<HS ~13:25 a=FL-7~BL
8:00~ ~9:50 SR =7S-F7<BS ~14:00 7<DL-ZADS-=7L-F7~<FL

~10:30 ZAOBL-a1=7S




